
Assignment 2: 
Image Mosaics
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Detection Description

Input Entire image Salient points

Goal Detect candidates Describe for matching
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But there are outliers...
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So what do we do?
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How?
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How to run

runme.m

runme_generategroundtruth.m

run_configurations = { ...
   % {'all', 'sift', 'sift', 'ratio', 'RANSAC', 'cp2tform', 'simple'}, ...
   % {'test01', 'harris', 'window', 'ratio', 'RANSAC', 'cp2tform', 'simple'}, ...
   % {'test01', 'harris', 'sift', 'ratio', 'RANSAC', 'cp2tform', 'simple'}, ...
   % {'test01', 'sift', 'window', 'ratio', 'RANSAC', 'cp2tform', 'simple'}, ...
   % {'test01', 'sift', 'sift', 'ratio', 'RANSAC', 'cp2tform', 'simple'}, ...
   {'all', 'random', 'random', 'random', 'random', 'groundtruth', 'simple'}
};



Tips

Code is OK if you can prove to yourself (and 
in the writeup) that it’s OK.

No examples page.

Some input examples are HARD.



Send me your images!!!



Start Early!!


